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STATISTICS

. Paper : STA0100104
( Descriptive Statistics and Probability—I)
- Full Marks : 45
Time : Two hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : 1x5=5
o TR Beq uml ¢

(@ Which of the following is -used as a
summary measure for a sample ?

&S TmRe (SN0 eAfeme SR st
oot IR = @

(i) Population parameter
ARA 2be
(i) Sample statistic

afomdq efomfe

Coﬁtd.



(iii) Population mean
TR WG

(iv) None of the above

8T GBS F=W

(b)) A quantitative scale where there is a
true zero and equal interval between
neighbouring points is termed as
TS SRS o1, 778 N30 BoAffS Qe

+ oice 7ot S KR e TN 73w A,

©is (PRI =
(i) Ordinal scale

FRfimpe W
(i) Nominal ‘'scale

AEHF A
(i) Interval scale

YR A

(iv) Ratio scale

S Ao

P
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(¢) Which of the following options is the
true example of primary data ?

CESLE |

(i)‘ Journal / S sifdst
(i) Book'/ &%

(i) Census /P

(iv) Newspaper / I°R FIF©

(d) Which of the following measures is not
influenced by extreme values ?

oo GRS (FIE! Tt 5 NN 2iKl siffs
QEXES

(i) Arithmetic Mean
TSR TG

() Geometric Mean -
Kcicc i

(i) Median
R R |

(iv) None of the above
@9IFT BIS TR
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(e) Two different dice are rolled together.
What is the probability that the sum of
the numbers on the two dice is 5°?

ufS fon =g off Rews 9 T4 | g 1O 8oe
ot WY YO AT 5 (AR TSIk T

@)

B O

(@)

i) %

(iv) None of the above
@Y OIS TR

2, Answer any five from the folloWing
questions : 2x5=10

Tﬁmmﬁmm%ﬁa %‘mﬁm

(a) What are the different scales of
measurements of statistical data?
In which. of these measurements
mathematical operations multiplication
and division can be carried out?

. AR (=R [feq Mo & B2 @2
AR fooT (IS HfASTT FHE o7’
oiF ‘274 TR AR
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(b) Distinguish between variables- and
attributes. ‘

WWWW?H@W!

(c) Write four sources of secondary data.

Gl S BIBr B for|

~ (d) Distinguish between bar diagram and
histogram.

meﬁmm@avﬁzﬁqﬁwtu ,

(e) Distinguish between ‘inclusive’ and
‘exclusive’ types of class intervals. How
are ‘class boundaries’ calculated from
‘class limits’?

‘TGS’ W AMEge (AT TR W AL
foran | Ay of[l catc‘ﬂviﬁw e ataat
3k AR ‘

( Show that the algebraic sum of
deviations of a set of values from their
arithmetic mean is zero.

ryedl (@ AT T EfeR o[l Fidew
AT REEHERR @INF 7 |
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(g9 Find the median from the following
- frequency distribution :

oo Tl ARG IBR = g Refy 72 -

x:12 3 45 '

-f : 2.8 10 7 3

(h) Find the standard deviation of the first
4‘n’ natural nu_mbers.

2T ‘v’ Bl Te YR Vs [oew [efg w111

(i) A tyre manufacturing company kept a
record of the distance covered before a
tyre needed to be replaced. The table
shows the reéglts of 1000 cases :

<5l DR AFS FIF NI G5! Birw Wi
T WIS oy 91 (991 O @R FR
JIRFET | o ARTIRITS (SCIFI 10005t FGAR

T (TYRIRAR 8
Distance : Less than 5,000to 10,001 to More
(in kms) 5000 - 10,000 15000 than 15,000

9 (km) 5,000 9  5,0003 10,001 ¥ 15,000 .
I @ 10,000 @15000 ©F @R

Frequency : 40 190 300 470
IRl
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If a tyre is bought from this company,
what is the probab111ty that

zﬁaﬁmﬁaiaswﬁmwﬁmm
| 'Wmﬁ‘ﬁ L2

(i) it will last more than 10,000km.
(308! 10,000km O WIfES S|

(@) it has to be réplaced between
5,000km and 15,000km.

(1’ 5,000km W% 15,000km 3
. ere e IR AR

(i) Consider the p.m.f.
eifdel o9 Tem Kot 3413

A X
= =1: ’3a495
p(x)=15ix=1,2

Find (R =90 :
i) P{X=1 or () 2}

(i) P{-é-<x<-g-/x'>1}
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.3.. Answer. any four from the following
~ questions : _ 5x4=20

O TR ﬁmmrwﬁ?/? @mﬁm

{a) erte a- brief note on the scale of
measurements of statistical data.

AP SYT (ST T Raca <
oY Gt frarn

‘(b) Write a brief note on merits and
demerits of primary data.

wwm@qwzsﬁwew&%wm
(Gl
(¢ In a study of blood groups of 1000
: males and 1000 females in a city, the
following data were obtained :
QY F919 1000 9FF % 1000 FREAR (o6
&} Gl SIS OoTF SRR (AR AT

Blood Groups Male -Female
(ST &t G wfze
A 150 - 140
B 300 280
o) 450 500
- AB. 100 80

1 (Sem~-1) STA/G 8




Represent the total blood group
distribution with the help of a
Pie diagram.

of% % By wRme WE (TF 2R aq‘m%t
RT3 |

(d) Calculate less than’ and ‘more than’
cumulative frequencies against
appropriate boundaries from the
following data : '

TR AR =191 The #fReas Reve orets
o w‘@t@a@m me?tamnﬁ siomt
F9 2
Weight of insects . ‘ }
(in gms.) : 21-30  31-40  41-50 51-60
AT T (3) '
Number of insects  : 15 ' 25 40 60
O T4 ‘
Weight of insects 61-70 . 71-80
- (in gms.)
A el (&)
Number of insects : = 20 = 10
AW Yl
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(e) Find median and mode from the
following frequency distribution :

| ooTs fral AR 35N S N I T
s - |
Class Interval : . 0-10 .10-20 20-30 30-50 50-70
@ o ' |
 Frequency 2 s 10 14 6
e _

() The probability density function of a
continuous random variable X is given
by |
4% wiffos T 5o X TeIel T

7
kxz(l—xs) ; O0<x<l
| 0 ; elsewhere (Ejat)

o]

where k is a constant.

% k @it &9 1
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Find the value of k. USing this value of
k, find the mean and variance of X
1+2+2=5

‘kawﬁcﬁwxﬁwwﬁmmm
ooRd Nefg w11

(g9 Give the ax1omatlc definition of
- probability function.

If A and B are any two events, then
show that .

eIt Tt el

T A O B Rt 751 <6, (ot orgeat
& | : '
P(AUB)=P(A)+P(B)-P(ANB)

2+3=5

(h)~ There are two bags A and B. A contains

‘”’ white and 2 black balls and B

contains 2 white and ‘n’ black balls.

" One of the bags is selected at random

and two balls are drawn from it. If both

the balls drawn are white, what is the

probability that bag A is selected ?

If this probability is %, find the value

of n. , : 3+2=5
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ASE BTN (N A'S ‘7’ B 360 O 2 e
| T IR A B GO ol AE B A e
R | @A (I ISl WEite IR ©ie

+{al 15! I T BeFeItd AReZ 341 T4 | W qait

MM 36 I TV o8 A G R4t

i @ iR € =W, o ' W R

11 o .

Answer any -one from the following
questions : : 10x1=10

WWWW&WWW

(a) Write a detailed note on tabulation of

(b)

data mentioning its types, rules and
precautlons for tabulation.

mﬁwwmﬁwwwsm
AR oo 4t (SRS G x|

In a study to test the effectiveness of a
new variety of manure, experiment was
performed in 50 fields and the following
results of yield per.hectare (in quintals)
were obtained :
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@Ry 79 2wy AT AoR THAFE @fo
ATFIS 5047 CFag ofS FFW SedAmR
(FRT%T0) ToPPR G (AR e 3

ved - 0-24 2529 30-34  35-39
Ted - |
Number of fields 2 3 8 | 12
KGR
Yield . 40-44  45-49  50-54 . 55-50
Testi ‘
_Number of fields : 16 5 2 2.
CRER A | | |

Find (Rfa =) ¢

i) tﬁe mean
Ky

(ii) the variance
A

(iij) the 1st quartile
AN 5l
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(iv) the 6th decile
W oA
(v) the 75th percentile
| 750 *oTHT
(¢ A, B and C play a game and the

chances of winning it in an attempt

are %, % and %_— respectively. A has the

first chanée, followed by B and then by
C. The cycle is repeated till one of them
wins the game. Find their respective
chances of winning the game.

A, BOISE C (@ 9Bl (& (0= F «fo 4GRS

SEEIHT Tl (TR TSRSl AGITF T

2,1 a k1A o o R AR o

forge B (7 9T O PIRS C Gl | G (353"
| qo TR W% | (SSER STORRE, (RTINS
TR @RI eropl e =
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(d) Two dice are rolled. Let X denotes the
random variable which counts the total
number of points on the upturned
faces. Construct a table giving the non-
zero values of the probability mass
function. Also find the distribution
function of X.

7% el Rt = 29 @ e o
A @ e YO 8oRe SRl FRAYW o
I | TSROl ©F T MR NPT 47
WﬁWWIWXQﬁ‘?qWﬁ‘ﬁ
iall
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